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Beam Data after Decelerator
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The particle distribution is taken 550mm downstream of the quadrupole triplet (distance probably needed for a valve and bellows).

At this point



Beam Data after Decelerator




Beam Data after Decelerator
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Beam Data after Decelerator
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Beam Data after Decelerator

Longitudinal
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Beam Data after Decelerator

or =134 ns
Enean = 1.02 keV
o = 89.6 eV

o, = 1.573 mm

gy = 1.898 mm
" Electrostatic

e iacodes POT Einzel lens Quadrupole €, = 9.72 mm mrad
_ €y = 15.4 mm mrad
i \ v \J | \J B
- e — S ’ -E
-> -  -EEE - |
B I e i
E ] B
- e -

1555 mim 410 mm



Predecelerating
electrodes

PDT

Einzel lens

Electrostatic
Quadrupole
Triplet ‘

-t

; ' 5

e mmmme mm ammr wmmmmn memmn - - —r

= = ISR B

- .
1555 mm 410 mm

Drift Tube Decelerator

Extraction Einzel

Triplet quad

Reaction converter

Vacuum description
with pbar trap
lengths to be decided

‘optics to

reaction

chamber
MCP

L5=287
[ 14=2500

HV

optics III

410 {55
aad

Zero length
C::‘ flange
adapter
DN160-
DN63
DN 160

new
Decelerator
chambers

} way

CF63 valve

120 (766 |1

332

Cross David
CF160/CF63

Il DN63 tube

250

DN 63

ELENA
beam

600

to ANTION

center
./ L5+L4+410+155+27=592+L4+L5

27

22 !
22

1425+22+12+22+110+332+]

1425 2 o

2+120+70+L1+250 = 2373+L1+12

LS+L4+L1+L2=6102-2965=3

137, L1+L2=3137-2287= 350




